MORE WORD PROBLEMS

| ate 4 hot dogs and 5 cheeseburgers at the BBQ.
How many food items did | eat altogether?
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| ate 2 slices of cake and 7 cupcakes at the BBQ.
How many desserts did | eat in all?
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| drank 6 blue sodas and then | drank 1 red soda at
the BBQ. How sodas did | drink in all?
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| ate 2 peppermints and 5 gummy bears at the BBQ.
How many pieces of candy did | eat?
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| ate 4 ice pops and 6 ice cream cones at the BBQ.
How many desserts did | altogether?
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| ate 9 strawberries and then | ate 1 banana at the
BBQ. How many pieces of fruit did | eat?
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